0d
=
T
AN
T4
rin
[

« ZH 28 A7 2N, ZH M 8, 20 24y, Ol +F, ZH ST o=
« BHSAH=E oA FArIRRL: H2tE

o AlCHet ahgtoll a2t Yol HEtE

O

=
- HUH) TR B ARBAS0| S0 HAS 8| 3
2. A Eo| Xt2H o 2 S0f7tof stCtu & FHISHALS

« OHE AD|A(Adam Smith), (ZE2)
-"HO|X| gk £ — JHQ10| 0|2 £ A|H FHS US

o L— —

« UE T 2|EH(Milton Friedman), {XFH=2=0| 2} Xt2)

- EE Q) A 2Bt > ME W] 20l2 FHIS YH 4+ AUS

3. 3R JlYio] ERdict 2 FNERS

=z

« 2EH|%| 0| 252 E(Ludwig Erhard), (ZH S S8t HAE
- AEI YR 7ol 52

« Z 0|1 E |21 A (John Maynard Keynes), {1, O| X} 5! stm|o| 2!t 0| 2)
- 37| EH A EE 0]

I &HE{(Joseph Alois Schumpeter), {XFH2Z=2], At2| 2| 2|1 ZIFZF2f)
M Ioba|" — S 20| 7| & LIS CHAM|SHH ZR| &%

« 7}2 023 A(Karl Marx), {XH22)
-"Alg B - X7 SKHE AR
« E0} I|HE|(Thomas Piketty), 21417] XH)

-"HO| EIE A" — X EH| M T Q

6. g KoM A= FHISt 0|2

- St O 2 - AR 3ROl 12| (O A0]2)

+ 77| BepuIt ol mat £ X — HE Y (E Hlo|LIE HelA)

+ B4 7|2 EXtO} St - AT T} (KX STE)

7.8

- AR MALS ofsots Rt =T

LA 2 R HAT S ANt O vt H o 50|28
.+ ZBHS 2B NIALO| OfEH SF0|=X| O Bers| ofsHE 4 AUS

iTH SHI=t =0l = 0HOICIO




